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In this exercise, all angles are given in radians.

1 Without using a calculator, work out, giving your answer in terms of m:
d ﬁn&ilw

a arccos(0) b arcsin(l) ¢ arctan(-1)
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e mRnoAth f Enpmshqmv g manmEﬁmEMV h munmETE uv
2 Find:
a E.nm,E@ + E.Q.E»..& b wnonomﬁv - E.nnomﬁlw ¢ arctan(l) — arctan(-1)

@ 3 ‘Without using a calculator, work out the values of:

a mwﬂﬁm—.n\mw—.— Wu b m.—ﬂﬁm.—,omru AIW:

¢ tan(arctan(-1)) d cos(arccos 0) -

@ 4 Without using a calculator, work out the exact values of:

@ S—— ..@.,,_ e ..-—v—@:ﬂwu‘ﬂ
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a mmn?aoomfv b oOmTao&uﬁlwz ¢ Euﬁﬁono“ﬁlv\wz

2
¢ o)

d sec(arctan(v3)) e cosec(arcsin(—1))

Given that arcsin k = a, where 0 < k < 1 and « is in radians, write down, in terms of o, the first
two positive values of x satisfying the equation sinx = k.

un

Given that x satisfies arcsin x = k, where 0 < k < H_

6
a staie the range of possible values of x (1 mark)
b express, in terms of x,
i cosk ii tank 3 (4 marks)
Given, instead, that |NN_.f <k<0,
¢ how, if at all, are your answers to part b affected? (2 marks)

-3

Sketch the graphs of:

a eu@+w8\nmgx b y=m—arctanx

2

¢ y=arccos(2x +1) d y= -2 arcsin (-x)

8 The function f is defined as f: x — arcsinx, -l s x < 1, and the function g is such that
g(x) = f(2x). .

a Sketch the graph of y = f(x) and state the range of f. (3 marks)
b Sketch the graph of y = g(x). i (2 marks)
¢ Define g in the form g: x + ... and give the domain of g. (3 marks)
d Define g! in the form g x+ ... (2 marks)
9 a Prove that for 0 < x = 1, arccos x = arcsin y 1 — x? (4 marks)

b Give a reason why this result is not true for -1 < x < 0. (2 marks)
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